268

1) X2(X2-.9)
X2(X - 3)(X + 3)

2) 3IX(X2-25)
XX - 5)(X + 5)

3) 4X2(X2-1)
AX2(X = 1)(X + 1)

4) 5X(X4-1)
5X(X2 - 1)(X2 + 1)
SX(X - 1)(X + 1)}(X2 + 1)

5) <2(X2 +8X +15)
-2(X + 3)(X + 5)

8) 3X(X2 +3X - 10)
3X(X + 5)(X - 2)

7) 5X(X2-X-6)
SX(X -3)X +2)

8) X(X2 + 11X + 30)
(X + 6){X + 5)

9) -4(X? +7X +10)
“AX + 5)(X + 2)

10) -3X(X? + 8X + 12)
-3X(X + B)(X + 2)

11)  2X(X2 - 4% - 5)
2X(X « B)(X + 1)

12) X3(5X2-X-6)
X3(5X - )X + 1)

13) -3X(X2 + 4X - 12)
-3X(X + B)(X - 2)

14) X2(X2 4 3X - 4)
X2(X 4 4)(X - 1)

15) 4X(X2-9)
AX(X - 3)(X + 3)

16) 2X2(X2 - 16)
2X2(X - 4)(X + 4)

26C

1) (X2-4)X? + 4)
(X-2)(X+2)(2 +4)

1004 - 16 = (10 - 210 + 2)(102 + 4
2 Fﬁﬂ:éggm} 14::4; 0=+ 4)
9084 = 9984

3) (4X - 3)(4X + 3)

4) 16{10)2 - 9= 4(10) - 3][4{10) + 3
) 1§ 11551,-.[:3'}}{231 1[4{10) + 3]

1591 = 1591
5) 3X-8 R 7
X+2|3%X2- 2X-0
-(3X2 + 6X)
-8X- 9
-(-8X - 16)
7
] ax- B
X X+ 2
BX - 16
axe . ax
aX2 - 2X - 16
+7T
axe. 2¢¥- 9

7) X2-TX 412

x X-4
-4X 4+ 12
X2 . 3X

WR-TX+12

9) 75
x75
5625

10) 41
x49
2008

11)

12)

13)

14)

15)

16)

17)

18)

19)

20)

2(%2 4 2X 4+ 1) Xe1
22X+ 1)(X +1) x X+1
X+ 1
X2+ X
X2 42 +1
8(X2 - 100) X- 10
60X - 10)(X + 10) x X410
' 10X - 100
X2 . 10X
X2 . 100
3Q = (7)(6
3:000
Q=14
(2)(3B) = (9)(X)
72=9X
B=X
15 = 2500 - 440
455 = 2500
182=0
AX +5X =43 + 16
X =59
Ax10% +9x109 + Tx 102 + 3 x 100

01 + 0005 = .0105

121H+I£+4ﬂ1]-ﬂﬂ+2}+ﬂ
12N+12+4N=9N + 18 + B
TN=14

N=2 2,34

(2X)(A + 4 3)A + 4) =
12#!'.& : p:tia:l +.|:l2;

260D

1) X(X2-9)
XX - 3K + 3)

2) (10p -9(10) = 10(10 - 310 + 3
) Gop I:‘EI:I'fl= 1%{{?][13]]{ +3)
210=910

3) (X2-9)(XZ +9)
(X-3)(X +3)(X2 + 9)

4) (10)%-81 =(10-3)(10 + 3)(102 + 9)
9919 = (7){13)(109)
9919 = 9919

5) 2§-1 R -11
X-3l2x2- 7x-8
-(2X2 - 6X)

X-8
-(-X + 3)

-1

) 2X - 1
x X-3

66X + 3
2%2. X

2X2-7X +3
-11

2X2-7TX- 8

7 X2-3X+2

X-2

X X-2
22X +2

X2 . X

X2-.3X+2

9) 95
95
9025

10) 24
26
624

1)

12)

13)

14)

15)

16)

17)

18)

19)

20}

5(X2 - 9) X-3
S(X - 3)X + 3 X X+3
3X- 9
X2 . ax
X2 9
4(X2 - 81) X-9
4(X - 9)(X + 9) x X+9
Ax- 8
X2 4 9%
X2 - B1

(AM110) = 1P
440 = 11P
40=P

8)(15) = 8C
o0
938=C

-5Y + 3=8Y -4 (after dividing all lerms
by 108)
3 + 4 = 8Y + 5Y
7=13Y
TH3=Y

207 - 90X = 500X + 83
124 = E90X
62/2905 = X

250 + .10D = 2.30 Q+D=14

250 + 10D = 230
-100Q - 10D = -140

15Q = 90 (6)+D=14
Q=6 D=8

4.2 x 180 = 755 miles

(X + A)}IC +B) =
(X)(C + B) + (A)IC + B)



